TO-92 Plastic-Encapsulate Transistors
' A733 TRANSISTOR(PNP)

FEATURES

TO-92 | Pcm: 0.25W (Tamb=25°C)
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S | lem: -0.15A
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 Collector-base voltage

3.BASE Verceo: -60V

_ Operating and storage junction temperature range
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Ty, Tetg: -55C to + 150°C

ELECTRICAL CHARACTERISTICS
| (Tamb=25C unless otherwise specified)

Collector-base breakdown voltage | V(BR)CBO lc=-5u A, le=0 -60 V

Coliector-emitter breakdown voltage | V/(BR)CEO lc= -1 mA, |s=0 . =50 . | V

Emitter-base breakdown voltage V(BR)EBO le=-50u A, Ic=0 -5 V

Cn!let_._:tnr cut-off current lcBo Vee= -60 V, =0 | - -0.1 | u A

Emittef- cut-off current leso Vee= -5V, lc=0 -0.1 I A

DC current gain hre Vce=-6V, lc=-1 mA 90 200 600

Collector-emitter saturation voltage VCEsat lc=-100 mA, Ie=-10mA |- | -0.18 -0.3 V

Vee=-6V, lc=-10 mA ,
Transition frequency fr _ 50 180 - | MHz
g f =30MHz

CLASSIFICATION OF h-FE

|- Rank R Q P K

Range 90-180 135-270 200-400 . 300-600




Typical Characteristics
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